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INSTRUCTIONS

1. This paper consists of two sections A and B

2. Section A is COMPULSORY
3. Answer any THREE questions in section B

SECTION A (31 Marks) - Compulsory

Question One
a) Define the following;

i) Enterprise computing.

ii) Naming service.                                                                                                
(2 Marks)

b) Distinguish between a static webpage and a dynamically produced webpage.             
(2 Marks)

c) With aid of a diagram explain the class inheritance of the servlet.                              
(8 Marks)

d) Distinguish between applets and servlets.                                                                      
(2 Marks)

e) Explain two disadvantages of using struts in enterprise programming.                         
( 2 Marks)

f) Explain three disadvantages of common gateway interface in sever side programming.

                   
(3 Marks)
g) Name an example of an open source server that can run java programmes.                    
(1 Mark)
Question Two
a) Define the following terms:
i. JDBC driver;
ii. JNDI.                                                                                                                  
(2 Marks)

b) Differentiate between an HTML comment and JSP comment as used in server side scripting giving and example in each case.                                                                                               
(4 Marks)

c) Explain the importance of deployment descriptor in execution of web server applications. 

                                                                                                                                 

(2 Marks)
d) Differentiate between session and entity Java beans.                                             

(2 Marks)

e) State two J2EE development frameworks.                                                             

(2 Marks)

f) Outline three ways in which you can run an SQL file in Java EE integrated development environment.                                                                                                             

(3 Marks)
SECTION B (39 MARKS)

Question Three
a) Shown below is an HTML code. Study it and answer questions that follow.
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i) Explain line 8 of the code clearly explaining the method and action attributes of the form. 
                                                                                                        
     
(4 Marks)

ii) Sketch the form as it would appear after running the cord shown above.    

(2 Marks)
b) Write a Java Server Page that would respond to the user after submitting the form in a) above.
                                                                                                                 


(7 Marks)
Question Four

a) Explain three advantages of using struts rather than MVC architecture (page dispatcher) during enterprise computing.                                                                              


(6 Marks)
b) Explain the steps followed when connecting to a database from a J2EE development environment using Struts.                                                                                   

(7 Marks)
           Question Five
a) State ways of using struts in enterprise computing.                                            

(2 Marks)
b) Explain any three J2EE development roles.                                                      

(6 Marks)
c) An IT specialist wanted to run some applications he had developed in a J2EE server.  After starting the server, the programmes could not run. State two possible reasons for this and the possible ways of mitigating them.                                                    


(5 Marks)
Question Six
a) Explain the concept of model view controller as applied in enterprise computing.   
           (3 Marks)

b) With aid of a diagram explain how a J2EE server responds to a user request from a browser using the MVC architecture.                                                                

      (10 Marks)

Question Seven

a) State three components of Java database connectivity application programming interface. 
                                                                                                                                   (3 Marks)

b) Differentiate between Web Archive and Java Archive files.                                    (2 Marks)

c) Java Server Pages are WebPages produced by mixing HTML code with java code. Outline any four ways of integrating JSP in web programming.                         

     (8 Marks)
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